
 

STGB3715 - ESMERIL DE BANCADA 



Posição Peça Referência Type Qtde
Tipo 1
Tipo 1
Tipo 1
Tipo 1

Tipo 1

Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1
Tipo 1

 1  5140167-99  TAMPA EXTERNA ESQUERDA  1
 2  5140168-00  PORCA ESQUERDA  1
 6  5140168-04  TAMPA INTERNA ESQUERDA  1
 7  5140168-05  APOIO ESQUERDO  1

 8  5140168-06  ROLAMENTO DE ESFERA6202RZ YYCQ A13N 
0113  2

 9  5140168-07  MANCAL  2
 10  5140168-11  ROTOR  1
 11  5140168-12  CABO ELETRICO  1
 12  5140168-18  ESTATOR  1
 13  5140168-19  ARRUELA MOLA  1
 14  5140168-20  ARRUELA  1
 15  5140168-21  TAMPA DO CABO ELETRICO  1
 16  5140168-22  CAIXA DO CAMPO  1
 17  5140168-23  ETIQ. FANTASIA  1
 18  5140168-24  ETIQ.ESPECIF. STGB3715TIPO 1  1
 19  5140168-25  ANEL PROTETOR  2
 20  5140168-26  APOIO DIREITO  1
 22  5140168-28  FLANGE DO DISCO  2
 23  5140168-30  PORCA DIREITA  1
 24  5140168-31  TAMPA EXTERNA DIREITA  1
 25  5140168-32  BASE  1
 26  5140168-33  TAMPA DO INTERRUPTOR  1
 27  5140168-34  INTERRUPTOR  1
 28  5140168-36  ARRUELA  1
 29  5140168-38  CAPACITOR  1
 30  5140168-39  TAMPA DA BASE  1
 31  5140168-40  CALCO DE BORRACHA  1
 33  5140168-42  PARAFUSO M5X12  10
 34  5140168-43  ARRUELA DE 5 mm  31
 35  5140168-44  ARRUELA DE PRESSAO  1
 36  5140168-45  PARAFUSO M5X8  4
 37  5140168-46  PARAFUSO M4X8  1
 38  5140168-47  PORCA M5  10
 39  5140168-48  PARAFUSO M5X45  6
 40  5140168-49  PARAFUSO M5X10  1
 41  5140168-50  PARAFUSO M5X13  1
 42  5140168-51  PARAFUSO M8X12  1
 43  5140168-52  ARRUELA M8  1
 44  5140168-53  ARRUELA DE PRESSAO  1
 46  5140168-54  ABRACADEIRA DOCAPACITOR  1
 47  5140168-55  PROTETOR DO CABOELETRICO  1
 48  5140168-56  PRESILHA DO CABOELETRICO  1
 49  5140168-57  SUPORTE INTERNO  1
 50  5140168-58  PARAFUSO M6X15  2
 51  5140168-59  ARRUELA M6  2
 52  5140168-60  TAMPA INTERNA DIREITA  1


